wrglfl eflarrgsrsir / Model Question Paper-2019-20

GusbBlansy — Qresr_mip Y et / Higher Secondary Second Year

Yereflufluisy / Statistics
S wHmp 2B ouf) / Tamil & English Version

Cprid 1 15 Bl sisseir + 2.30 woaf Cuorés e Qusmassr - 90
Time Allowed: 15 minutes + 2.30 Hours Maximum Marks: 90

SPayemrser  : 1) @S5G allewtrdsenn  Ffwre u
FAlUTidg b ClsTsirarayip.,

esszfmsrrmﬂuummrﬂLLb 2

Blours) o_eirengm STEITLIGN
SjFFiLgalsy G»pullmiifssr MM
Mquns Qg faflsseayi.

2 B gyewg Sy QUCEIRTEL T

aqé;@a;rrq@mg,@@m umshu@ﬁ,g,@ms‘a’w@&. UL _Bigeir SMDT UG M 3 L)

Glusirdlsh LWISTLI (B\d g eyt

Instructions 1) Check the question paper for faimess of printing. If there is any lack of

fairness, inform the hall supervisor immediately.

2) Only blue or black ink must be used to write an

d underline. Pencil can
be used to draw the diagrams.

u&g -1/ PART - |

Gplay: (i) GG G)ﬂmrrésa;@a's@m s)ﬂsml_wsrﬂésassmb. 15 x 1=15

(i) Q&r@sses i bTerE allenL_seaflsy EF TDYML_w aflenr_
Gg,:'r;_i,@g,@g’gu ST B_eir aflen_uflensar
Note: (i) Answer alf the questions.

ullenerr g
Wb Gxiigg) TS ayLp.

(ii)Choose the most suitable answer from the given four alternatives and write
the option code with the corresponding answer.
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1. wrdf serey eraw QuAsTseyd, 02 Qar@dsiulTogd @ mbsTe, wrdf
usiTusTeneu Gergemearullsy 02 eraTLSDE LSlewTs @)L belumIsug)
(o) wrNe Fyraif (o) wrdM wrmuT_ L ereneu
(@) wrdf H_ L aflewbsid (%) wrHf allds Fwid
When n is large and a2 is unknown, 02 is replaced in the test statistic by
(a) Sample mean (b) Sample variance

(c) Sample standard deviation (d) Sample proportion"

2. Gurgisurs Gumn wrglflé Garlur@ser vwsTu®SsUILG g sTUGLTE Sl

(1) n=100 (=) 1250 (@) n=>40 (%) n=30

/"~ In general, large sample theory is applicable when 2

(@) n>100 (b) n>50 (c) n>40 (d) n>30

3. 8m Quemlwew wuew OsTEgSullst wrpuT L eTewer FTTHS & HHICHTEmET

Cergliugn @ vweTUGESSUUGS DS

(o) t - Gerpemer (=) F - Gorgener

(@) z - Gergensr () ewseuiss Cergener

For testing the hypothesis concerning variance of a normal population ______is

used.

(a) t - test (b) F - test (c) z-test (d) ztest
4.  F- wrglfl usistuerensu aurssl Lemseflsr allalsid stameytn

QUL TEENEIGEY TR

(=) B symraf (=) 2p FrreEd

(@) epevrmy srred (/) mreiT @ Fyre

F-statistic is also defined as the ratio of square errors.

(a)Two means (b) one mean

(c) Three means (d) four means
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wrpur’_ GO uGlurile) (pepm CSTL RIS L SeTwTeTg)

() Osrifled (@) fousrwnd (@) w@sgun (%) wrdwe
ANOVA technique originated in the field of

(a) Industry ~ (b) Agriculture (c) Medicine (d) Genetics

& _(Hneys6lsw Semwiybd @t Gleueafl
(o) —1<r<0 (=) -1<r<1 (@) 0<r<i () =1<r<]
The correlation coefficient is given by

(@) —1<r<0 (b) -1<r<1 (c) 0<r<i (d) -1<r<i

suflens sjerey 2_eni_w @) HwTHEEpssSleL Guuwmer Qsri iy uHmlwg)
(@) er.e1b. L1960 5T 2L Bey

(=) Slrrsev_er wHmId CserL 6T Hr L (Hmey

(@) sried Nwrseafler $1 @l (Gney

() svlwirGuefler 1 e Hmey

scale.
(a) A.M. Tuttle rank (b) Goxton and Cowdon rank
(c) Karl Pearson’s rank (d) Spearman’s rank

b, >1ereflev b, eresrirg
(=) 1 (=)0 (@) >1 () <1
If b, >1then b is

(@) 1 (b)0 (c) >1 (d) <1

o 1_eTOIHTL T} GHT(Hs6r Glout 1985 GETaTEHLD Ly6iTer

(=) (X.7) (=) (X.Y) (@) (0,0) (/) (1,7)
The regression lines intersect at
(a) (X,1) (b) (X.7) (c) (0,0) (d) (1,1)

correlation studies is the association of two variables with ordinal
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10. sorewilwii whmir urdufler aflensvd@Mufe_F) sTsirassi wonGuw 324 wHmi 144
stesfled dlaglflsir aflpdlw @BufL @ et stsirugy

(=) 234 (=) 243 (@) 261 (/) 216
If Laspeyre’s price index is 324 and Paasche’s price index is 144, then Fisher's ideal
index is |
(a) 234 (b) 243 (c) 261 (d) 216
1. sreg Osrii sufepsullsy S MISET 2_siTomenT.
(=) Qrem® (=) epsiry
(@) Breirg (%) gobgs

The number of components in a time series is
(a)Two (b) three
(c) four (d) five

12. srewgsrii suflewauflsr snmissir T,S,C wHmib | o srere_salw @G angeueioliy
(o) Y=TxSxCxI (=) Y=T+85+C+1
(@) Y=TxS+CxI (F) Y=TxSxC+1I

An additive model of time series with components T,S,C and | is
(@) Y=TxSxCxI b) Y=T+S+C+1I

() Y=TxS+CxI (d) Y=TxSxC+1I

13. surpBlensv @'rgﬂuf@ 9jsrafl(Heug,

(@) dpiy @iy efladlsi (o) surpplemey Plaspafsir aflezio
(@) syall Gpuy aldsn () Gurgiurer &®moynise afldsn
Vital index measures

(a) birth-death ratio (b) rate of vital event

(c) infant mortality rate (d) general fertility rate
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14. eurpmreflenr ergliurilienud GDIEGI GHSSTid

0 T " /
() €)=~ () €'0) =
(@) e’ (x)=Tx—Ix () e®(x)=Tx+Ix

Formula required to calculate expectation of life

(@) e'(x) = % (b) e’(x) = o
(©) () =Tx-Ix (d) e’ (x)=Tx +1Ix

15. 9@ aysswrar Qeugisdla CGu g@ ySu Qewamealt LwsTUGSSH Qupit

aflenerenay gflu)io Corsemner

(o) F Gergewert (@) wroppurd QU uGluriey

(@) ws suirdas Gargener (%) t - Blewewsrd Camgener

When we study the effect of any new intervention is

(a) F test (b) ANOVA
(c) chi square test (d) paired t test
ugg Il / PART - I

stemauCuignid Hmi aflerrasense ol weallsseain.
aflarT sTevar 24 - &@ s LTwiors aflenweaflsaayib.
Answer any six questions.

Question No. 24 is compulsory.

16. egrwmerrs yeraflufwed 6T6OTLIG) 6T6HTGRT 7

What is inferential Statistics?

6x2=12

17. Qewemps t-ordifil usnuetemes Gorgmearemw eIQUTPS LWSTLGHSSOTD?

When paired t-test can be applied?
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18.

19.

20.

21.

22.

23.

24.

B» Quevplme Yuwews OFTGE LrHILTHEEsGS L Cuiwrear GFrgememdsdg
D{SYILDT VT RIS 6T WITEDEU?

What are the assumptions for testing the ratio of two normal population variances?

U Bpallst LuCaum! ouMBEHMET 6T(LPSHI%.

What are the different types of correlation?

Qar@ssiu’ L @rean® o Lar@sriy Carl GésTear Srafle 6‘;@5’@112) Uewip

2 _6TETST? 2 63T afleNL_SHBTET ST TERTHMS T )15,

y==15x+7 wpmidp x=0.6y+97......

Is there any mistake in the data provided about the regression lines y =—-1.5x+7 and

x=0.6y+9 ? Give reason.

&6 CFTHEMEIT 6THTMT6V 66T 7

What is circular test?

Tl (peiTHenfliiy WwenmseT wireneu?
What are the three types of forecasting?

20 &t o6 UL L srgdle Uphs @yealseflsr saramlsamasn, 9Gs
st BlenL_Geuaflufley Glmps Gyallseafst sramenfldamauin, weampGuw 400 gysayi,
25 gsayd ugley QEinuiiu Fsterer. HHHHES BB AST Giwal Gniiy
alldlssmas (IMR) seawsdsBs.

The number of live births recorded and the number of infants died in a town during a
given period are respectively 400 and 25. Calculate from these information, the

infant mortality rate of the town for the period.

wigw yeraflulwied eiuesgdler Liflayser wrenen?
What are the divisions of CSO?
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u@g Il / Part - Il

sTemouGuignith ymy ol TS5 ehs@® R LS Serells aflen_wefllssaus. 6x3 =18
aflarr stedor. 33 - @ s Lrunors allenL_weflsseayib.

Answer any six questions. Question No.33 is compuilsory.

25. 9@ soaf PpisuaTsHey  sweumiiiy wempuilev 100 LoTewtouisHeir  Glgifley
Criwiuc® opeisellsr  srren o wri 163 Qs Bt oflewdsn 10 Q.18
AEND o sreng). HO:u=167 STOTERID @) siTemin SBHSICHETEMHE gHu Lorgifl
ueTLeTeneud Cargenssuller wFlH LG &enrdhs (.

A set of 100 students is selected randomly from an institution. The mean height of
these students is 163cms and the standard deviation is 10cms. Calculate the value of
the test Statistic under H0 - H=167.

26. A2 LgeusQeir LIGRTL|S6meNTds dn 0] 5.

State the properties of A2 distribution.

27, pouf wpgid e wrpium G ueluTbaleer UG,
Compare one way and two way ANOVA.

28.  cov(x,y)=18.6, x -sir wrgiur® =20.2, y —er wrmur® =23.7. srefl r @eir iy
Srevoras. {

Given thét cov(x, y) =18.6, variance of x=20.2 variance of y=23.7. Find r. 1

29. Lipsmenre Sreysened bz 1997 oy 6Tl D& BIsTEeurt aflemey GSOUTL B
stenremnemnt 1996 b <y evsrenL YLD Y eT_T5s5 QsTers() ireims.

OluT L ser 19969410 oy evmig 60 1997 o1 21,659713 6V eflemev

aflemsv (3) : ()

e 130 115

Gargiemw 85 65

FT BB T 75 70

6T 6507 @) T 105 105
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Construct the price index number for the year 1997, from the following information

taking 1996 as base year.

Commodities Price in 1996(%) Price in 1997(%)
Rice 130 115

Wheat 85 65

Sugar 75 70

oil 105 105

30. eurpplemevts yerefluflwev ubMli suswrwenmEHer FevuHenm TSI,

31.

32.

33.

Write down the definitions of vital statistics.

R HAPOTA o drer YTDL FSTSTT WWSFD @rrevged) Hnhs @Gbemsdsets
sTestemtidsens 135 g @w. euayfly  susurainrgsy 300 Gui @mpgistenssti.
SJeuisehet @rravmL plope CFuwrs S5 Ap GYbmSSEHD GDhbIeTeTei.
gsusurmruller geugyfler el Bpiiy alflshamsd &rers.

A primary Health Centre located in a village has a record of 135 live births during a
Year. The number of deaths recorded in the village was 300. Among them, 5 are new
born babies of age less than a year. Measure the infant mortality rate of the

village?

o e GlgrLiUle sTemeuCuigyiid cLpesTmI LISSTL|SH6M 6T sr@gua,;.%

Write any three properties of regression.

GOTL B eravsraaner &L enwliugled 2 _erer LIFFFeneraar wreneu?

What are the precautions that should be taken in the constructing Index numbers?

Page 8 of 14



ugg -1V /Part -1V

QWG allarTrssEhs@n el weflss ). 5X5=25

Answer all the questions.

auestion No. 38 13 Com,oulmry.‘
Aot Otast 2 -6\ HLaws DOl o

34.

(@) ouloiys udelsaisd Luldauhs Yreugperw 1290 sugly

wrentauigeaflen Cu i1 @atm @m uGHaeie BLsslul L g1 A ugHuiev

Qgfley Qeiwiiu’ L 300 wravreuisafsy, 34 Guir pTeud Gsran@srarai sreitm B

uGdullev Ggfley Gewwinn’ . 200 wrsmrsuisefs 28 Gui 9 Feuid Gamevs(DeiremsyTi-

statapd  Gisfdng. Gaelauriismers Oara), Guullmiyl  usrefsefie
uullbeudlsy gyisugpent Qurfley B uggluléy o srer wreamreuisenaral A LG Guilsv

o _GEN LOTENTEUTHET QTeUPL ST @) HeAmTi e STRTUSHEG CUITEILTET HHTTID

2 SMENGT TSNS Y l1ey GFiiis.

a) Interest of Xil students on Residential schooling was investigated among randomly
selected students from two regions. Among 300 students from region A, 34 students
expressed their interest. Among 200 students selected from region B, 28 students
expressed their interest. Dbes this information " provide sufficient evidence to

conclude at 5% level of significance that students in region A are more interested in

residential schooling than the students in region B?

(S16vev g / or)
() surii'iy evpulley CaibesHasiul L srs@ar. e wHoND Fr5CeL. Fenau
Qveurgr L Tiisefls) o ster sTiGur epamt Gy Syerey  (Hlrmdev) £qu
-t eumemulle)  Qar@Ssiul Hereng Qran®  elgwrer  seeusefgid
ariGurenap’ Gri syeraflsr wrpuT@as ClouciGauprarenss stard snmiousne

THIUTST YGTTID & TengT srawr CFrdds. o =2%

srsBe semew |29 |25 118 140 |41 |25 |32 (30 |38 34 |25 |28

FraGsuL_ 39 139 |37 |29 |30 |38 |39 10 129 |55 |29
FMULDHDS|

Page 9 of 14




b) The carbohydrates contains in seevings of some randomly selected chocolate
and non-chocolate candies are listed below. Is there sufficient evidence to conclude
that the variance in carbohydrates varies between chocolate and non-chocolate

candies? a = 2%

chocolate | 29 | 25 18 |40 |41 25 |32 30 |38 34 |25 |28

Non- 39 (39 |37 |29 |30 (38 [39 [10 |29 85 |29
chocolate
35. (o) wrewaniser g vl As psitapuin, Nerguid Bl Caiallsy euiser

Oumhm WG 6T uglafle nn’ 1 E1DSEHTL_suTm) IYL_L_euenenT
u@ssliu’Berarg. @LuulDAurerg Ijsuisefler wHIGUSTHmeT 2w Sgiausn @
2 galarors Qubssr erar Gordss.

Ll g @ psir 100 160 113 122 120 105

vl g @ et 120 155 120 128 118 100

(a) A test was conducted with 6 students before and after the training programme.
Their marks were recorded and tabulated as shown below. Test whether the

training was helpful in improving their scores.

Before 100 160 113 122 120 105
training
After 120 165 120 128 115 100
training
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( oysvevg1 / OF)
(@) Wereumo sreyselled Shems wHMID waeflsT o wWIkser (9EIGeD)
Qasr@ssuul Rarargl. Shews  LOHMID waefldr o WrkiseEpsSlenL_Gur o srer

Qariiilener sriev Lwisrer U BHneys6lse wempenwll LwWeaTUBSI S &TesTss.

shenguilsr | 65 66 67 67 68 69 70 72
© _WiyLp
L& 6ufl6ar 67 68 65 68 72 72 69 61
o Wy

(b) The following data gives the heights(in inches) of father and his eldest son.
Compute correlation coefficient between the heights of father and son using Karl

Pearson’s method.

Height of | 65 66 67 67 68 69 70 72
father
Height of | 67 68 65 68 72 72 69 61
son

36. (o) L _(O'pey wHmID 2 L 6T BsTLTenu Caumu®bdsis.
(a) Distinguish between correlation and regression
( ojsvsvgy for)

(o) Netraumd HT6Vs5 GlHTL T suflewFuilsy LiHou HTeV LIMILITHBEN6ENTE &T6vTd5.
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37.

&TeOT6sT(H) 2000 2001 2002 2003
i 65 58 70 60
I 58 63 59 58
i 56 63 56 51
v 61 67 52 58
(b) Find the seasonal variations for the following table
Quarter 2000 2001 2002 2003
| 65 58 70 60
! 58 63 59 55
i 56 63 56 51
v 61 67 52 58

(o) #Cp Gar@ssuul @erer oL oumanrufl SglUmL  LHDHID By

oyanpEalley  @mbs Qurgplasepssrar  eflmeuh, ISHSTET S| 6T EHLD

Qar@assiiul_Pererar. @l Lsamesenwl  LwaTUBSS, Hegfler  aflgpudlus
GOTC B  erawr  sTewrpy  Gergmerewll  Yisd QFiEmsT  THTLINS
FRluTidse)b.
QuT@GLasT | SjgliueL et LU et
PG VST | SjeTey PO HYVBHT | JjeTe
aflsnsv () allemsv(X)
A 4 40 5 60
B 5 50 10 70
Cc 8 65 12 80
D 6 20 6 90
E 7 30 10 75
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(sjsves )
(=) aurpplemev gy L susnewruilssr spp LGS allPuii o miiysCerT® &G

Sriul Bererg eflGui L 2 mitiysener BIrLiLs.

suiLgi H(x) d(x) p(x) q(x) I(x) T(x) e%(x)
(o s saflev)

36 69818 #

37 69032

38 68212 850 1779254

(a) The table below gives the prices of base year and current year of 5 commodities with

their quantities. Use it to verify whether Fisher’s ideal index satisfies time reversal test.

Commodity | Base year Current year
Unit price(x) | Quantity Unit price(x) | Quantity
A 4 40 5 60
B 5 50 10 70
C 8 65 12 80
D 6 20 6 90
E 7 30 10 75
Or

(b) The following is a section of a Life Table with some missing entries. Complete the life
table.

Age (in | I(x) d(x) p(x) q(x) I(x) T(x) e%(x)
years)

36 69818

37 69032

38 68212 850 1779254
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38. (9) om psfe o srer Lisirerflaserflsh 1290 sugliy
DT sTSTEU 56T vopulld  ga@arg  udtefulgny 5 Gui
Copipels@saiiu@ Gsia) pLHEUCLUDDE. Isuisst Cupp  wIlielLsH
Nesreumomrmy
usire | 9 7 8
veire I 7 4 5
Lsrefl 1l 6 5 6

@ anfl wrmpurt U uGLuTriie GFils.

(a) A test was given to five students taken at random from Xll class of three schools of

a town. The individual scores are

School | 9 7 6 5 8
School |l 7 4 5 4 5
School i 6 5 13) 7 6

Carry out the one-way ANOVA.
(oysvevgy / Or)
(=) @ Sl tiuemiluflev 2_siter LLVGsum Blewevasemarts upmlwr LissTLWVLSemar
afleufdas.

(b) Briefly explain the characteristics of various stages in a project work.

o
\
Al @ﬁ) g
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